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M. Com. (Fourth Semester) (Main/ATKT) 
EXAMINATION, 2020 

(Optional—Specialization) 

(Group—D : Taxation and Accounting) 

Paper D–III 

ACCOUNTING IN SERVICE SECTOR 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 
 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  
(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 
(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 
 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 
Choose the correct answer : 

1- gksVy ds vfrfFk dks izHkkfjr fd;s tkus okyh ;wjksfi;u ;kstuk nj esa 
fuEu dks ‘kkfey fd;k tkrk gS % 

¼v½ dsoy Hkkstu [kpsZ ¼O;;½ 
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¼c½ dsoy Bgjus ds [kpZ ¼O;;½ 

¼l½ Bgjus o Hkkstu nksuksa ds [kpsZ ¼O;;½ 

¼n½ buesa ls dksbZ ugha 

Under the European Plan, a guest of hotel is charged at a rate 
which includes : 

(a) Boarding charges only 

(b) Lodging charges only 

(c) Both Boarding and Lodging charges 

(d) None of these 

2- gksVy ds vfrfFk dks izHkkfjr fd;s tkus okyh vesfjdu ;kstuk nj esa 
fuEu dks ‘kkfey fd;k tkrk gS % 

¼v½ dsoy Hkkstu [kpsZ ¼O;;½ 

¼c½ dsoy Bgjus ds [kpsZ ¼O;;½ 

¼l½ Bgjus o Hkkstu nksuksa ds [kpsZ ¼O;;½ 

¼n½ buesa ls dksbZ ugha 

Under the American Plan a guest of hotel is charged at a rate 
which includes : 

(a) Boarding charges only 

(b) Lodging charges only 

(c) Both Boarding and Lodging charges 

(d) None of these 

3- gksVy dk ds- vks- Vh- (KOT) fuEu }kjk rS;kj fd;k tkrk gS % 

¼v½ jlksbZ?kj 

¼c½ izeq[k osVj 

¼l½ osVj 

¼n½ buesa ls dksbZ ugha 
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KOT of hotel is prepared by : 

(a) Kitchen 

(b) Head waiter 

(c) Waiter 

(d) None of these 

4- dks”k ftlesa lHkh izdkj ds vkxe] _.k o _.kksa ds Hkqxrku ds fy, 

jkf’k dks ljdkj }kjk izkIr fd;k tkrk gS] dgykrk gS % 

¼v½ lesfdr dks”k 

¼c½ vkdfLed dks”k 

¼l½ yksd ys[kk 

¼n½ buesa ls dksbZ ugha 

The fund comprises of the all revenue loan and money 

received in replayment of loan by the government is known 

as :   

(a) Consolidated Fund 

(b) Contingency Fund 

(c) Public Account 

(d) None of these 

5- ------------------------- dks jk”Vªifr vFkok jkT;iky ds fuiVku esa rFkk dsoy os gh 

blds mi;ksx ds fy, vf/kdr̀ dj ldrs gSaA 

¼v½ lesfdr dks”k 

¼c½ vkdfLed dks”k 

¼l½ yksd ys[kk ¼[kkrk½ 

¼n½ buesa ls dksbZ ugha 
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............. is at the disposal of the President or Governor and 

only they can authorize its use.  

(a) Consolidated Fund 

(b) Contingency Fund  

(c) Public Account 

(d) None of these 

6- yksd ys[kk lfefr dh fu;qfDr ------------- }kjk dh tkrh gSA 

¼v½ jk”Vªifr 

¼c½ jkT;iky 

¼l½ laln 

¼n½ buesa ls dksbZ ugha 

The Public Accounts Committee is appointed by : 

(a) President 

(b) Governor 

(c) Parliament 

(d) None of these 

7- d”̀kd o mlds ifjokj }kjk miHkksx dh tkus okyh Lo;a ds d̀f”k mit 

ys[kk gsrq ewY;kadu -------------- ij fd;k tkrk gSA 

¼v½ cktkj ewY; 

¼c½ ykxr 

¼l½ ykxr o cktkj ewY; tks de gks 

¼n½ buesa ls dksbZ ugha 
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Own agricultural product consumed by the farmer and his 

family is valued at ............. for accounting. 

(a) Market Value 

(b) Cost 

(c) Cost or Market value whichever is less 

(d) None of these 

8- df̀”k ¼QkeZ½ vafre [kkrs --------------- ds vuqlkj rS;kj fd;s tk ldrs gSaA 

¼v½ ,dy izfof”V iz.kkyh 

¼c½ f}&izfof”V iz.kkyh 

¼l½ ,dy@f}&izfof”V iz.kkyh 

¼n½ buesa ls dksbZ ugha 

The Farm Final Accounts can be prepared according to ......... 

(a) Single Entry System 

(b) Double Entry System 

(c) Single/Double Entry system 

(d) None of these 

9- izkIr fo’ks”k nku dks n’kkZ;k tkrk gS -------------A 

¼v½ fLFkfr&fooj.k ds lEifŸk i{k esa 

¼c½ fLFkfr&fooj.k ds nkf;Ro i{k esa 

¼l½ vk;&O;; [kkrk ds vk; i{k esa 

¼n½ buesa ls dksbZ ugha 
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Specific Donations received is shown on ........ 

(a) Assets side of Balance Sheet 

(b) Liabilities side of Balance Sheet 

(c) Income side of Income and Expenditure Account 

(d) None of these 

10- cankscLr dks”k ds fofu;ksxksa ij izkIr ykHkka’k dks n’kkZ;k tkrk gS % 

¼v½ vk;&O;; [kkrk ds O;; i{k esa 

¼c½ fLFkfr&fooj.k ds nkf;Ro i{k esa 

¼l½ vk;&O;; [kkrk ds vk; i{k esa 

¼n½ buesa ls dksbZ ugha 

The dividend received on Investment of Endowment Fund is 

shown on .......... 

(a) Expenditure side of Income and Expenditure Account 

(b) Liabilities side of Balance Sheet  

(c) Income side of Income and Expenditure Account 

(d) None of these 

11- Li”V lwpuk ds vHkko esa ofl;r ¼ysxslh½ dks n’kkZ;k tkrk gS % 

¼v½ vk;&O;; [kkrk ds O;; i{k esa 

¼c½ fLFkfr&fooj.k ds nkf;Ro Ik{k esa 

¼l½ fLFkfr&fooj.k ds lEifŸk i{k esa 

¼n½ buesa ls dksbZ ugha 
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In the absence of clear information, Legacy is shown  
on ......... 

(a) Expenditure side of Income and Expenditure Account 

(b) Liabilities side of Balance Sheet 

(c) Assets side of Balance Sheet 

(d) None of these 

12- Hkkjr esa jkT;iky ds osru dk Hkqxrku fd;k tkrk gS % 

¼v½ laln dks”k ls 

¼c½ lesfdr dks”k ls 
¼l½ vkdfLed dks”k ls 
¼n½ yksd ys[kk ls 
In India, the salary of Governor is paid by .......... 

(a) Parliament Fund 

(b) Consolidated Fund 

(c) Contingency Fund 

(d) Public Account 

13- Hkkjr esa lgdkjh lfefr vf/kfu;e ----------------- o”kZ esa ikfjr fd;k x;k FkkA 
¼v½ 1901 

¼c½ 1910 

¼l½ 1911 
¼n½ 1912 
The Co-operative Society Act was passed in India in the  
year ....... 

(a) 1901 

(b) 1910 

(c) 1911 

(d) 1912 
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14- [kpsZ ¼O;;½ ftls laln esa erksa }kjk vuqeksnu dh vko’;drk ugha 

gksrh gS --------------------A 

¼v½ lkekU; vkxe O;; 

¼c½ iw¡thxr O;; 

¼l½ mifj izHkkfjr O;; 

¼n½ buesa ls dksbZ ugha 

Expenditure does not require the vote of approval of 

Parliament : 

(a) Normal Revenue Expenditure 

(b) Capital Expenditure 

(c) Charged upon Expenditure 

(d) None of these 

15- yksd ys[kk ¼[kkrk½ dks la/kkj.k fd;k tkrk gS ----------------A 

¼v½ ljdkj }kjk izkIr fd;s tkus okys lHkh vkxe ds fy, 

¼c½ vuisf{kr O;;ksa ds Hkqxrku ds fy, 

¼l½ lHkh izdkj dh eqnzk dh izkfIr;k¡ tks lesfdr dks”k esa ugha tkrk 

gks 

¼n½ buesa ls dksbZ ugha 

The Public Account is maintained for ............ 

(a) All revenue receipts by the government 

(b) Meeting the unforeseen expenditure  

(c) Receipts of money which does not go to the 

consolidated fund 

(d) None of these 
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16- dqN lkoZtfud m|eksa dks NksM+dj vf/kdka’kr% ljdkjh [kkrs ----------------- ij 

cuk;s tkrs gSaA 

¼v½ mikftZr vk/kkj 

¼c½ jksdM+ vk/kkj 

¼l½ fefJr vk/kkj 

¼n½ buesa ls dksbZ ugha 

Except some public sector undertakings, govt. accounts are 

mostly kept on .......... 

(a) Accrual bases  

(b) Cash bases 

(c) Mixed bases 

(d) None of these 

17- vk;dj vf/kfu;e dh /kkjk 44AB ds vuqlkj ,d is’ks ds [kkrksa dk 

vads{k.k vfuok;Z gS ;fn mldh ldy dqy izkfIr;k¡ ------------ ls vf/kd gSaA 

¼v½ ` 5 yk[k 

¼c½ ` 50 yk[k 

¼l½ ` 5 djksM+ 

¼n½ buesa ls dksbZ ugha 

U/S 44AB of Income Tax Act the audit of Accounts of a 

profession is compulsory if gross total receipts exceeds ....... 

(a) ` 5 lakhs 

(b) ` 50 lakhs 

(c) ` 5 crore 

(d) None of these 
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18- ---------------- dh LFkkiuk gsrq laln vFkok jkT; fo/kkulHkk }kjk ,d fo’ks”k 
vf/kfu;e ikfjr fd;k tkrk gSA 

¼v½ ljdkjh dEiuh 

¼c½ oS/kkfud fuxe 

¼l½ lkoZtfud dEiuh 

¼n½ blesa ls dksbZ ugha 

A special Act is passed by the Parliament or State 
Legislature for establishment of a .......... 

(a) Government Company 

(b) Statutory Corporation 

(c) Public Company 

(d) None of these 

19- ,d dEiuh ftldh dqy nŸk va’k iw¡th dk de ls de ----------- fgLlk 
dsUn ;k jkT; ljdkj ;k nksuksa }kjk /kkj.k djrh gS] ljdkjh dEiuh 
dgykrh gSA 

¼v½ 50% ls vf/kd 

¼c½ 60% ls vf/kd 

¼l½ 80% ls vf/kd 

¼n½ buesa ls dksbZ ugha 

A company in which at least ............ of the paid-up share 
capital is held by central or state government or both is 
known as government company. 

(a) More than 50% 

(b) More than 60% 

(c) More than 80% 

(d) None of these 
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20- nSfud yk¡x iqLrd ----------------- }kjk cuk;h tkrh gSA 

¼v½ lgdkjh lfefr 

¼c½ df̀”k QkeZ 

¼l½ ifjogu laLFkku 

¼n½ buesa ls dksbZ ugha 

Daily Long Book is prepared by ........... . 

(a) Co-operative society 

(b) Agricultural farm 

(c) Transport undertaking 

(d) None of these 

 [k.M&c  

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj 3 ;k 4 okD;ksa esa nhft,A izR;sd iz’u  

2 vadksa dk gSA 

 Answer any eight questions in 3 or 4 sentences. Each 

question carries 2 marks. 

1- gksVy ds dejk vfrHkksx nj dh x.kuk dk lw= fyf[k,A 

Write formula for calculation of Room Occupancy Rate of 

Hotel. 

2- gksVy ds fcLrj vfrHkksx nj dh x.kuk dk lw= fyf[k,A 

Write formula for calculation of Bed Occupancy Rate of 

hotel. 
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3- ‘kS{kf.kd laLFkku fdrus izdkj ds vuqnku izkIr djrk gS \ 

How many types of  grants are received by Educational 

Institute ? 

4- ‘kS{kf.kd laLFkku fdrus izdkj ds nku izkIr djrk gS \ 
How many types of donations are received by Educational 
Institute ? 

5- gkWfLiVy ds vkbZ- ih- Mh- (IPD) jftLVj ls vki D;k le>rs gSa \ 
What do you mean by IPD Register of hospital ? 

6- cankscLr dks”k izkfIr;ksa ls vki D;k le>rs gSa \ 
What do you mean by Endowment Fund Receipts ? 

7- fo’ks”k izdkj ds is’ks ds izdkjksa dh lwph nhft,A 
List down the types of specified profession. 

8- df̀”k ys[kk i)fr;ksa dks le>kb,A 
Explain the methods of farm accounting. 

9- ifj’kq) Vu&fdyksehVj ls vki D;k le>rs gSa \ 

What do you mean by Absolute Ton-km ? 

10- okf.kfT;d Vu&fdyksehVj ls vki D;k le>rs gSa \ 

What do you mean by Commercial Ton-km ? 

 [k.M&l  
(Section—C) 

y?kq mŸkjh; iz’u 
(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A xf.krh; izdf̀r ds iz’uksa dks 
NksM+dj izR;sd iz’u dk mŸkj yxHkx 75 ‘kCnksa esa nhft,A izR;sd 
iz’u 3 vadksa dk gSA 
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 Attempt any eight questions. Each question except 
numerical nature is to be answered in about 75 words. 
Each question carries 3 marks. 

1- gksVy ds vkxarqd ;k vfrfFk jftLVj dh :ijs[kk nhft,A 
Give pro forma of Visitors or Guest Register ?  

2- ifjogu laLFkku ds nSfud ykWx iqLrd dh :ijs[kk nhft,A 
Give pro forma of Daily Log Book of Transport undertaking. 

3- df̀”k ys[kk ds ,dy izfof”V iz.kkyh ds rqyukRed voLFkk fooj.k dh 
:ijs[kk nhft,A 
Give pro forma of comparative Statement of Affairs of 
Single Entry method of farm accounting. 

4- df̀”k ys[kk D;ksa izfl) ugha gS \ 
Why is farm accounting not popular ? 

5- ljdkjh ys[kk o okf.kfT;d ys[kk esa vUrj crkb,A 
Differentiate between Government Accounting and 
Commercial Accounting. 

6- gksVy laxBu ds foHkkxksa dk oxhZdj.k fyf[k,A 
Write classification of departments of hotel organisation. 

7- gkWyhMs bu] ubZ fnYyh ds ik¡p flrkjk gksVy esa dqy 600 dejs gSa 
ftlesa 30 dejksa dk ifjpkyu gsrq rFkk 10 dejksa dk foHkkxh; izeq[k 
}kjk] mi;ksx fd;k tkrk gSA 2 tuojh] 2020 dks 400 dejksa esa 
vfrfFk Bgjs gq, FksA vki dejs dh vfrHkksx nj Kkr dhft,A 
Holiday Inn, a five star hotel, in New Delhi, has 600 rooms 
in all. Out of which 30 rooms are used for operation 
purposes and 10 rooms are occupied by departmental heads. 
On 2nd January, 2020, 400 rooms were occupied by the 
guests. You are required to compute the room occupancy 
rate. 
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8- ,d gkWLihVy ftlesa 25 fcLrj rFkk 5 vU; fcLrj vko’;drk 
vuqlkj vklkuh ls j[ks tk ldrs gSaA 365 fnu [kqyk jgus okys 
gkWLihVy esa 120 fnu 25 ejht izfrfnu okys iw.kZ {kerk] 80 fnu 
vkSlr 20 fcLrj izfrfnu Hkjs jgrs gSaA o”kZ esa 5 #i;s izfrfnu dh nj 
ls vfrfjDr fcLrjksa ij dqy ` 2000 izkIr gq,A  

 o”kZ esa vkSlru ejht fnu dh x.kuk dhft,A  
The hospital consists of 25 beds and 5 more beds can be 
comfortably accommodated when the occasion demands. In 
365 days open in a year hospital only 120 days full capacity 
of 25 patients per day, 80 days on an average 20 beds only 
per day are occupied by patients. The total hire charges for 
extra beds incurred for the whole year amounts to ` 2,000 @ 
` 5 per bed per day. 

Calculate average patients days in a year. 

9- fuEufyf[kr lwpukvksa ls 31 ekpZ] 2019 dks lekIr gksus okys o”kZ dk 
vk;&O;; [kkrk esa izHkkfjr dh tkus okyh ys[ku lkexzh dh jkf’k Kkr 
dhft, % 

 ` 

1 vizSy] 2018 dks ys[ku lkexzh dk Lda/k 1,320 

31 ekpZ] 2019 dks ys[ku lkexzh dk Lda/k 660 

o”kZ ds nkSjku ys[ku lkexzh gsrq Hkqxrku 6,600 

1 vizSy] 2018 dks ys[ku lkexzh ds ysunkj 396 

31 ekpZ] 2019 dks ys[ku lkexzh ds ysunkj 990 

31 ekpZ] 2018 dks ys[ku lkexzh gsrq vfxze Hkqxrku 330 

31 ekpZ] 2019 dks ys[ku lkexzh gsrq vfxze Hkqxrku 495 
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From the following information, calculate the amount of 
stationery to be charged to Income and Expenditure Account 
for the year ended 31st March, 2019 : 

 ` 

Stock of Stationery as on 1st April, 2018 1,320 

Stock of Stationery as on 1st April, 2019 660 

Paid for stationery during the year 6,600 

Creditor for stationery as on 1st April, 2018 396 

Creditor for stationery as on 31st March, 2019  990 

Advance payment for stationery as on 31st  
March, 2018 330 

Advance payment for stationery as on 31st  
March, 2019 495 

 10- fuEufyf[kr fooj.kksa ls 31 ekpZ] 2019 dks lekIr gksus okys o”kZ ds 
fy, i’kq/ku df̀”k [kkrk rS;kj dhft, % 

 ` 

i’kq/ku dk izkjfEHkd Lda/k 40,000 

i’kq/ku dk vafre Lda/k 56,000 

i’kq vkgkj dk izkjfEHkd Lda/k 6,000 

i’kq vkgkj dk vafre Lda/k 2,000 

o”kZ ds nkSjku fuEu Ø; fd;s x;s %  

i’kq/ku 16,000 

i’kq vkgkj 6,000 

o”kZ ds nkSjku fuEu foØ; fd;s x;s %  

i’kq/ku 14,000 

nw/k 23,600 
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eD[ku 600 

etnwjksa }kjk miHkksx fd;k x;k %  

nw/k 200 

eD[ku Nil 

QkeZ ekfyd }kjk miHkksx fd;k x;k %  

nw/k 400 

eD[ku 200 

From the following details prepare Dairy Farm Account for 
the year ended on 31st March, 2019 : 

 ` 

Opening Stock of Cattle 40,000 

Closing Stock of Cattle 56,000 

Opening Stock of Cattle Feed 6,000 

Closing Stock of Cattle Feed 2,000 

Purchases during the year as follows :  

Cattle 16,000 

Cattle Feeds 6,000 

Sales during the year as follows :  

Cattle 14,000 

Milk 23,600 

Butter 600 

Items consumed by workers :  

Milk 200 

Butter Nil 

Items consumed by owner :  

Milk 400 

Butter 200 



 [ 17 ] D–131 

 (B-24) P. T. O. 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Answer all the questions. 

1- ,d ifjogu dEiuh dk dqy ekfld lapkyu O;; ` 4]602 gSA ,d 

Vªd 5 Vu ds lkFk 10 tkus dh ;k=k djrk gSA dEiuh eky ys tkus 

ds fy, ` 60 izfr Vu ysrh gSA Vªd ykSVus dh 5 ;k=k 8 Vu ds lkFk 

rFkk 5 ;k=k 5 Vu Hkkj ds lkFk djrk gSA ykSVrs le; HkkM+k ` 56 

izfr Vu gSA vkidks ekg esa vftZr ykHk dh jkf’k Kkr djuh gSA 

The total monthly operating expenses of a transport company 

is ` 4,602. A truck made 10 outward journeys with 8 tons. 

The company charges ` 60 per ton to carry the goods. The 

truck made 5 inward journeys with a load of 5 tons and  

5 inward journeys with a load of 5 tons. The charges of 

journey for return trip are ` 56 per ton. You are required to 

find out the amount of earned profit during the month. 

vFkok 

(Or) 

ljdkjh ys[kkadu ds fl)kUrksa dks le>kb,A 

Explain principles of Government Accounting. 
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2- fuEufyf[kr vk;&O;; [kkrk ls 31 ekpZ] 2019 dks lekIr gksus okys 
o”kZ ds fy, izkfIr o Hkqxrku [kkrk rS;kj dhft, % 

vk;&O;; [kkrk 
¼31 ekpZ] 2019 dks lekr gksus okys o”kZ ds fy,½ 

O;; 
jkf’k 
(`) 

osru 4,000 

fofo/k O;; 6,000 

djsa o njsa 1,000 

vo{k;.k ¼kl½ 1,800 

vkf/kD; ¼ykHk½ 15,200 

 28,000 

 

vk; ` 

nku 8,000 

pUnk 20,000 

 28,000 

vfrfjDr lwpuk,¡ % 

 1 vizSy] 
2018 
(`) 

31 ekpZ] 
2019 
(`) 

LFkkbZ lEifŸk;k¡ 18,000 20,000 

vnŸk pUnk 4,000 6,000 

vfxze izkIr pUnk – 3,000 

vnŸk fofo/k O;; 200 400 

jksdM+ ‘ks”k 2,000 ? 

vf/kdks”k ‘ks”k 200 14,200 
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From the following Income and Expenditure Account, 

prepare Receipts and Payments Account for the year ended 

31st March, 2019 : 

Income and Expenditure Account 

(For the Year ended 31st March, 2019) 

Expenditure 
Amount 

(`) 

To Salaries 4,000 

To Sundry Expenses 6,000 

To Rates and Taxes 1,000 

To Depreciation 1,800 

To Surplus 15,200 

 28,000 

 

Income ` 

By Donations 8,000 

By Subscriptions 20,000 

 28,000 
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Additional informations : 

 1st April, 
2018 
(`) 

31st 
March, 

2019 
(`) 

Fixed Assets 18,000 20,000 

Subscription outstanding 4,000 6,000 

Subscription received in 
advance — 3,000 

Outstanding Sundry Exp. 200 400 

Cash in hand 2,000 ? 

Cash at Bank 200 14,200 

vFkok 
(Or) 

lgdkjh lfefr dh ys[kkadu izfØ;k dks le>kb,A 
Explain the Accounting Process of Co-operative Society. 

3- fuEufyf[kr fooj.k ls 31 ekpZ] 2019 dks lekIr gksus okys o”kZ ds fy, 
df̀”k Qly [kkrk rS;kj dhft, % 

fooj.k 
izkjfEHkd 
Lda/k 
(`) 

vafre 
Lda/k 
(`) 

foØ; 
(`) 

[kkn 4,000 2,000 – 

cht 1,000 1,400 – 

Qlysa 2,000 4,000 26,000 

mxrh Qlysa 1,600 2,400  

lfCt;k¡ – – 4,000 

Qy – – 2,000 

Qwy – – 1,800 



 [ 21 ] D–131 

 (B-24) P. T. O. 

O;fDrxr miHkksx % 

 dEkZpkfj;ksa }kjk 
(`) 

ekfyd }kjk 
(`) 

Qy 60 400 

lfCt;k¡a 400 100 

o”kZ ds nkSjku Ø; % 

 ` 

[kkn 2,000 

cht 960 

o”kZ ds nkSjku etnwjh dk Hkqxrku 3,000 

From the following details prepare Agricultural Crops 
Account for the year ended on 31st March, 2019 : 

Particulars 

Opening 
Stock 

(`) 

Closing 
Stock 

(`) 

Sales 

(`) 

Fertilizers 4,000 2,000 – 

Seeds 1,000 1,400 – 

Crops 2,000 4,000 26,000 

Growing Crops 1,600 2,400  

Vegetables – – 4,000 

Fruits – – 2,000 

Flowers – – 1,800 
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Personal consumptions : 

 By Workers 

(`) 

By Owner 

(`) 

Fruits 60 400 

Vegelables 400 100 

Purchases during the year : 

 ` 

Fertilisers 2,000 

Seeds 960 

Wages paid during the year 3,000 

vFkok 
(Or) 

QkeZ ¼df̀”k½ ys[kkadu dh izfØ;k le>kb,A 
Explain the Accounting Process of Agricultural Farms. 

4- fuEufyf[kr fooj.k ls ,d vLirky dk vk; dk fooj.k rS;kj  
dhft, % 

 vkSlru 100 #i;s izfrfnu dh nu ls 5000 ejht fnuksa ij olwyh 
x;h vk; 

ifjorZu’khy O;; % ` 

ejhtksa dks [kkuk 44,000 

tujsVj o vU; lsok,¡ 12,500 

ykW.Mjh O;; 28,000 

nok,¡ 35,000 

MkWDVjksa dk ‘kqYd 1,20,000 

vfrfjDr fcLrjksa dk fdjk;k 2,000 
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LFkkbZ O;; % ` 

dejksa dk fdjk;k 60,000 

ejEer o vuqj{k.k 5,600 

lkekU; iz’kklu O;; 49,550 

vkWDlhtu] ,Dl&js ij O;; 54,000 

dEkZpkfj;ksa dk osru 30,000 

From the following particulars prepare a Statement of Profit 
of a hospital : 

Income received on 5000 patient-days @ ` 100 per day. 

Variable Expenses : ` 

Food 44,000 

Generator and other services 12,500 

Laundry 28,000 

Medicines 35,000 

Donator’s Fees 1,20,000 

Hire charges for extra beds 2,000 

Fixed Expenses : ` 

Rent 60,000 

Repairs and maintenance 5,600 

General Administration 49,550 

Exp. of Oxygen, X-rays etc. 54,000 

Salaries of Staff 30,000 
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vFkok 

(Or) 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ lesfdr fuf/k 

¼c½ vkdfLed fuf/k 

¼l½ lkoZtfud [kkrk ¼yksd ys[kk½ 

Write short notes on the following : 

(a) Consolidated Fund 

(b) Contingency Fund 

(c) Public Account 
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